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@ x2+3xy-2y2 = (2x+y) (x - 2y)
@x-1-y+1=0-1) -1

® P —dx=1x(x-2)°

@ x* -y’ =2x+2y=(x+y) (x-y-2)

® 2x+1)2-(x-2%=0Bx-1)(x+1)

@ —dx=x(x-2)(x+2)
@Dx -y -2x4+2y=(x-y)(x+y-2)
® @2x+1)*-(x-2)>=(3x-1)(x+3)
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® x(2x+y) @ 2 ® x
@y ® 2x+y

4x2 + 2xy = 2x (2x + )
Q=1 1, 2, x, 2x+y, 2x,2(2x+y), x(2x+y), 2x(2x + )
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@ a*+ 2ab + b* = (a + b)?
© a® - 2ab + b* = (a - b)?
© da>-b?>=(a+b)(a-D)
® x*+(a+b)x+ab= (x+a)(x+b)

@ acx® + (ad + be)x + bd = (ax + b)(cx + d)
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@ 1 @ a ® b @ G)arp

3a?b — ab = ab(3a - 1) °| 22 3ab? — ab 2] 150l a’b+= §lT}.
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a?b + 2ab — 2a — 4, 2a® + 4a — 2ab — 4bE 2
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@ a @ a+b @a+2

@ a-b ® ab-2

B

a’b+2ab—2a-4 =ab(a+2)-2(a+2)
=(a+2)(ab-2)

2a® + 4a — 2ab — 4b = 2a(a +2) — 2b (a + 2)
=2(a+2)(a-D)
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